# House of Character in Zejtun



#### Zejtun, South



## €899,000

Reference No: 240231047-99

Total Rooms: 11

Floor Area (m<sup>2</sup>) : 219

Bathrooms: 3

Bedrooms: 3

# House of Character - For Sale -Zejtun

ZEJTUN – HOUSE OF CHARACTER nestled in a peaceful location yet conveniently close to amenities. This fully renovated gem boasts a wide Hallway leading to a central Courtyard with a Swimming pool and deck area. The spacious Kitchen, Dining, and Living areas overlook the courtyard, filling the home with natural light. The property includes 3 Bathrooms, a Cellar, and 3 large Bedrooms overlooking the pool, along with an additional room currently used as a Study. A Washroom and a spacious Roof terrace further enhance the charm of this modernized property. Being sold fully Furnished and Freehold. For viewings or more details, contact your RE/MAX property consultant today!

### **Features**

- Ceramic Floor
- Electricity Utility
- Skirting
- Pool
- Central Courtyard
- Air Space
- Balcony
- Pool Deck

- En Suite
- Soffit Ceilings
- Double Glazed
- Terrace
- Court Yard
- Well
- Roof Terrace

#### Rooms

- Hallway : 8.98 x 2.13 m (19.13 m2)
- Kitchen : 3.15 x 6.57 m (20.7 m2)
- Living : 6.5 x 2.65 m (17.22 m2)
- Open Space : 8.59 x 9 m (77.31 m2)
- Bathroom : 2.25 x 1.2 m (2.7 m2)
- Double Bedroom : 5.15 x 3.15 m (16.22 m2)

- Double Bedroom : 5.99 x 3.21 m (19.23 m2)
- ✓ Box Room : 3.38 x 1.67 m (5.64 m2)
- ✓ Office / Study : 3.57 x 2.13 m (7.6 m2)
- Double Bedroom : 4.65 x 3.72 m (17.3 m2)
- ✓ Bathroom : 2.25 x 1.2 m (2.7 m2)
- ✓ Bathroom : 2.94 x 1 m (2.94 m2)
- Laundry : 4.87 x 2.02 m (9.84 m2)

# Gallery

















Naima Rekik Caruana RE/MAX Centerparc - Qormi

M: 77026204 E: nrcaruana@remax.com.mt T: 27344344

**RE/MAX Centerparc - Qormi** Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta